

expenses by the same production factor which was used by Energy Supply Planning for calculating power costs.  The production factor used in this calculation is the ratio of the test period normalized delivered load to the rate year delivered load which is 98.719%.  This equates to the 1.281% reduction applied to these various power related costs.


Net operating income is increased by $ 564,399 and ratebase is decreased by $ 10,173,212 as the result of this adjustment.

Working Capital


The purpose of this calculation is to provide a return for the funds the shareholder has invested in the Company, for utility purposes, over and above the investment in plant and other specifically identified ratebase items already earning a rate of return.


The first part of this adjustment calculates the total average invested capital that has been utilized during the test year.  From the average invested capital, the operating investment, which is already earning a return, is deducted.  A second deduction is made for nonoperating assets and plant not in service.  The result is total working capital provided by the shareholder.


This total working capital is then allocated between nonoperating working capital and operating working capital using the method consistent with previous rate cases.  The resulting operating working capital represents the shareholder's average investment which is required to provide utility service but which would 
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